| | | Engineer's Estimate | | Tri Mor Corporation | | |
|---|----------|---------------------|--------------|---------------------|--------------|--|
| Item | Quantity | Price | Extension | Price | Extension | |
| PROPOSAL SHEET | | | | | | |
| 1 - 202 - Pavement Removed, Mainline, T=8" - SY | 4,475.00 | \$15.00 | \$67,125.00 | \$20.00 | \$89,500.00 | |
| 2 - 202 - Pavement Removed, Concrete Drive, T=6" - SY | 500.00 | \$15.00 | \$7,500.00 | \$20.00 | \$10,000.00 | |
| 3 - 202 - Base Removed, T=4" - CY | 500.00 | \$5.00 | \$2,500.00 | \$10.00 | \$5,000.00 | |
| 4 - 202 - Pipe Removed - FT | 50.00 | \$15.00 | \$750.00 | \$20.00 | \$1,000.00 | |
| 5 - 202 - Catch Basin Removed - EA | 4.00 | \$500.00 | \$2,000.00 | \$500.00 | \$2,000.00 | |
| 6 - 204 - Subgrade Compaction, As Per Plan - SY | 4,475.00 | \$2.00 | \$8,950.00 | \$1.00 | \$4,475.00 | |
| 7 - 204 - Excavation of Subgrade, As Per Plan - CY | 140.00 | \$60.00 | \$8,400.00 | \$140.00 | \$19,600.00 | |
| 8 - 304 - Aggregate Base, T=4" - CY | 500.00 | \$80.00 | \$40,000.00 | \$80.00 | \$40,000.00 | |
| 9 - 452 - Non-Reinforced Concrete Pavement, Class QC MS, | 4,475.00 | \$110.00 | \$492,250.00 | \$75.00 | \$335,625.00 | |
| T=8" - SY | | | | | | |
| 10 - 452 - Non-Reinforced Concrete Pavement, Driveway | 500.00 | \$110.00 | \$55,000.00 | \$85.00 | \$42,500.00 | |
| Apron, Class QC MS, T=6" - SY | | | | | | |
| 11 - 605 - 6" Base Pipe Underdrains, 707.31 - FT | 3,210.00 | \$15.00 | \$48,150.00 | \$13.00 | \$41,730.00 | |
| 12 - 611 - 12" Conduit, Type B, 707.33, As Per Plan - FT | 50.00 | \$125.00 | \$6,250.00 | \$100.00 | \$5,000.00 | |
| 13 - 611 - Catch Basin No. 3, As Per Plan - EA | 4.00 | \$3,500.00 | \$14,000.00 | \$5,000.00 | \$20,000.00 | |
| 14 - 611 - Catch Basin Adjusted to Grade - EA | 3.00 | \$800.00 | \$2,400.00 | \$500.00 | \$1,500.00 | |
| 15 - 614 - Maintaining Traffic - LUMP | 1.00 | \$10,000.00 | \$10,000.00 | \$5,000.00 | \$5,000.00 | |
| 16 - 623 - Construction Layout Stakes and Surveying - LUMP | 1.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | \$10,000.00 | |
| 17 - 623 - Monument Assembly, Adjusted to Grade - EA | 3.00 | \$800.00 | \$2,400.00 | \$400.00 | \$1,200.00 | |
| 18 - 624 - Mobilization - LUMP | 1.00 | \$10,000.00 | \$10,000.00 | \$15,000.00 | \$15,000.00 | |
| 19 - 659 - Seeding and Mulching including Topsoil, Class 1 - SY | 1,080.00 | \$5.00 | \$5,400.00 | \$12.00 | \$12,960.00 | |
| 20 - 832 - Erosion Control - EA | 2,000.00 | \$1.00 | \$2,000.00 | \$1.00 | \$2,000.00 | |
| 21 - Special - Geotextile Fabric, As Per Plan - SY | 4,475.00 | \$2.00 | \$8,950.00 | \$1.25 | \$5,593.75 | |
| 22 - Special - Miscellaneous Metal - LBS | 500.00 | \$3.00 | \$1,500.00 | \$2.50 | \$1,250.00 | |
| 23 - Special - Mailbox, Remove and Re-Erect - EA | 21.00 | \$150.00 | \$3,150.00 | \$200.00 | \$4,200.00 | |
| 24 - Special - Pre-Construction Video - LUMP | 1.00 | \$1,000.00 | \$1,000.00 | \$800.00 | \$800.00 | |
| 24 Items | Totals: | | \$809,675.00 | | \$675,933.75 | |

| | | TC Construction | | Fabrizi Trucking & Paving Co., Inc. | | | |
|---|----------|-----------------|--------------|-------------------------------------|--------------|--|--|
| Item | Quantity | Price | Extension | Price | Extension | | |
| PROPOSAL SHEET | | | | | | | |
| 1 - 202 - Pavement Removed, Mainline, T=8" - SY | 4,475.00 | \$11.00 | \$49,225.00 | \$21.00 | \$93,975.00 | | |
| 2 - 202 - Pavement Removed, Concrete Drive, T=6" - SY | 500.00 | \$10.00 | \$5,000.00 | \$17.00 | \$8,500.00 | | |
| 3 - 202 - Base Removed, T=4" - CY | 500.00 | \$10.00 | \$5,000.00 | \$24.00 | \$12,000.00 | | |
| 4 - 202 - Pipe Removed - FT | 50.00 | \$25.00 | \$1,250.00 | \$25.00 | \$1,250.00 | | |
| 5 - 202 - Catch Basin Removed - EA | 4.00 | \$500.00 | \$2,000.00 | \$550.00 | \$2,200.00 | | |
| 6 - 204 - Subgrade Compaction, As Per Plan - SY | 4,475.00 | \$1.00 | \$4,475.00 | \$3.00 | \$13,425.00 | | |
| 7 - 204 - Excavation of Subgrade, As Per Plan - CY | 140.00 | \$80.00 | \$11,200.00 | \$24.00 | \$3,360.00 | | |
| 8 - 304 - Aggregate Base, T=4" - CY | 500.00 | \$99.00 | \$49,500.00 | \$76.00 | \$38,000.00 | | |
| 9 - 452 - Non-Reinforced Concrete Pavement, Class QC MS, | 4,475.00 | \$89.00 | \$398,275.00 | \$91.00 | \$407,225.00 | | |
| T=8" - SY | | | | | | | |
| 10 - 452 - Non-Reinforced Concrete Pavement, Driveway | 500.00 | \$105.00 | \$52,500.00 | \$97.00 | \$48,500.00 | | |
| Apron, Class QC MS, T=6" - SY | | | | | | | |
| 11 - 605 - 6" Base Pipe Underdrains, 707.31 - FT | 3,210.00 | \$16.75 | \$53,767.50 | \$14.00 | \$44,940.00 | | |
| 12 - 611 - 12" Conduit, Type B, 707.33, As Per Plan - FT | 50.00 | \$200.00 | \$10,000.00 | \$145.00 | \$7,250.00 | | |
| 13 - 611 - Catch Basin No. 3, As Per Plan - EA | 4.00 | \$5,400.00 | \$21,600.00 | \$5,850.00 | \$23,400.00 | | |
| 14 - 611 - Catch Basin Adjusted to Grade - EA | 3.00 | \$950.00 | \$2,850.00 | \$850.00 | \$2,550.00 | | |
| 15 - 614 - Maintaining Traffic - LUMP | 1.00 | \$10,000.00 | \$10,000.00 | \$3,500.00 | \$3,500.00 | | |
| 16 - 623 - Construction Layout Stakes and Surveying - LUMP | 1.00 | \$1,000.00 | \$1,000.00 | \$4,500.00 | \$4,500.00 | | |
| 17 - 623 - Monument Assembly, Adjusted to Grade - EA | 3.00 | \$500.00 | \$1,500.00 | \$500.00 | \$1,500.00 | | |
| 18 - 624 - Mobilization - LUMP | 1.00 | \$8,000.00 | \$8,000.00 | \$6,500.00 | \$6,500.00 | | |
| 19 - 659 - Seeding and Mulching including Topsoil, Class 1 - SY | 1,080.00 | \$7.00 | \$7,560.00 | \$8.00 | \$8,640.00 | | |
| 20 - 832 - Erosion Control - EA | 2,000.00 | \$1.00 | \$2,000.00 | \$1.00 | \$2,000.00 | | |
| 21 - Special - Geotextile Fabric, As Per Plan - SY | 4,475.00 | \$3.00 | \$13,425.00 | \$2.00 | \$8,950.00 | | |
| 22 - Special - Miscellaneous Metal - LBS | 500.00 | \$2.00 | \$1,000.00 | \$3.00 | \$1,500.00 | | |
| 23 - Special - Mailbox, Remove and Re-Erect - EA | 21.00 | \$100.00 | \$2,100.00 | \$150.00 | \$3,150.00 | | |
| 24 - Special - Pre-Construction Video - LUMP | 1.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | | |
| 24 Items | Totals: | | \$714,727.50 | | \$748,315.00 | | |

| | | Geauga Highway Co. | | Perk Company, Inc. | | | |
|---|----------|--------------------|--------------|--------------------|--------------|--|--|
| Item | Quantity | Price | Extension | Price | Extension | | |
| PROPOSAL SHEET | | | | | | | |
| 1 - 202 - Pavement Removed, Mainline, T=8" - SY | 4,475.00 | \$20.00 | \$89,500.00 | \$19.00 | \$85,025.00 | | |
| 2 - 202 - Pavement Removed, Concrete Drive, T=6" - SY | 500.00 | \$20.00 | \$10,000.00 | \$18.00 | \$9,000.00 | | |
| 3 - 202 - Base Removed, T=4" - CY | 500.00 | \$45.00 | \$22,500.00 | \$26.00 | \$13,000.00 | | |
| 4 - 202 - Pipe Removed - FT | 50.00 | \$10.00 | \$500.00 | \$1.00 | \$50.00 | | |
| 5 - 202 - Catch Basin Removed - EA | 4.00 | \$650.00 | \$2,600.00 | \$100.00 | \$400.00 | | |
| 6 - 204 - Subgrade Compaction, As Per Plan - SY | 4,475.00 | \$1.25 | \$5,593.75 | \$2.50 | \$11,187.50 | | |
| 7 - 204 - Excavation of Subgrade, As Per Plan - CY | 140.00 | \$45.00 | \$6,300.00 | \$85.00 | \$11,900.00 | | |
| 8 - 304 - Aggregate Base, T=4" - CY | 500.00 | \$80.00 | \$40,000.00 | \$85.00 | \$42,500.00 | | |
| 9 - 452 - Non-Reinforced Concrete Pavement, Class QC MS, | 4,475.00 | \$95.00 | \$425,125.00 | \$95.00 | \$425,125.00 | | |
| T=8" - SY | | | | | | | |
| 10 - 452 - Non-Reinforced Concrete Pavement, Driveway | 500.00 | \$95.00 | \$47,500.00 | \$95.00 | \$47,500.00 | | |
| Apron, Class QC MS, T=6" - SY | | | | | | | |
| 11 - 605 - 6" Base Pipe Underdrains, 707.31 - FT | 3,210.00 | \$19.00 | \$60,990.00 | \$18.00 | \$57,780.00 | | |
| 12 - 611 - 12" Conduit, Type B, 707.33, As Per Plan - FT | 50.00 | \$80.00 | \$4,000.00 | \$15.00 | \$750.00 | | |
| 13 - 611 - Catch Basin No. 3, As Per Plan - EA | 4.00 | \$2,700.00 | \$10,800.00 | \$2,000.00 | \$8,000.00 | | |
| 14 - 611 - Catch Basin Adjusted to Grade - EA | 3.00 | \$900.00 | \$2,700.00 | \$1,500.00 | \$4,500.00 | | |
| 15 - 614 - Maintaining Traffic - LUMP | 1.00 | \$16,000.00 | \$16,000.00 | \$13,000.00 | \$13,000.00 | | |
| 16 - 623 - Construction Layout Stakes and Surveying - LUMP | 1.00 | \$500.00 | \$500.00 | \$290.00 | \$290.00 | | |
| 17 - 623 - Monument Assembly, Adjusted to Grade - EA | 3.00 | \$500.00 | \$1,500.00 | \$1,500.00 | \$4,500.00 | | |
| 18 - 624 - Mobilization - LUMP | 1.00 | \$2,000.00 | \$2,000.00 | \$11,500.00 | \$11,500.00 | | |
| 19 - 659 - Seeding and Mulching including Topsoil, Class 1 - SY | 1,080.00 | \$4.00 | \$4,320.00 | \$8.00 | \$8,640.00 | | |
| 20 - 832 - Erosion Control - EA | 2,000.00 | \$1.00 | \$2,000.00 | \$1.00 | \$2,000.00 | | |
| 21 - Special - Geotextile Fabric, As Per Plan - SY | 4,475.00 | \$2.50 | \$11,187.50 | \$3.00 | \$13,425.00 | | |
| 22 - Special - Miscellaneous Metal - LBS | 500.00 | \$2.50 | \$1,250.00 | \$3.00 | \$1,500.00 | | |
| 23 - Special - Mailbox, Remove and Re-Erect - EA | 21.00 | \$175.00 | \$3,675.00 | \$250.00 | \$5,250.00 | | |
| 24 - Special - Pre-Construction Video - LUMP | 1.00 | \$500.00 | \$500.00 | \$1,000.00 | \$1,000.00 | | |
| 24 Items | Totals: | | \$771,041.25 | | \$777,822.50 | | |

^{*} Non-Responsive - Original Bid Bond & Non-Collusion not included

Bid Tabulation 3 of 4

| | | C A Agresta Construction Compan | |
|---|----------|---------------------------------|--------------|
| Item | Quantity | Price | Extension |
| PROPOSAL SHEET | | | |
| 1 - 202 - Pavement Removed, Mainline, T=8" - SY | 4,475.00 | \$18.00 | \$80,550.00 |
| 2 - 202 - Pavement Removed, Concrete Drive, T=6" - SY | 500.00 | \$10.00 | \$5,000.00 |
| 3 - 202 - Base Removed, T=4" - CY | 500.00 | \$35.00 | \$17,500.00 |
| 4 - 202 - Pipe Removed - FT | 50.00 | \$10.00 | \$500.00 |
| 5 - 202 - Catch Basin Removed - EA | 4.00 | \$500.00 | \$2,000.00 |
| 6 - 204 - Subgrade Compaction, As Per Plan - SY | 4,475.00 | \$1.00 | \$4,475.00 |
| 7 - 204 - Excavation of Subgrade, As Per Plan - CY | 140.00 | \$100.00 | \$14,000.00 |
| 8 - 304 - Aggregate Base, T=4" - CY | 500.00 | \$85.00 | \$42,500.00 |
| 9 - 452 - Non-Reinforced Concrete Pavement, Class QC MS, | 4,475.00 | \$98.00 | \$438,550.00 |
| T=8" - SY | | | |
| 10 - 452 - Non-Reinforced Concrete Pavement, Driveway | 500.00 | \$108.00 | \$54,000.00 |
| Apron, Class QC MS, T=6" - SY | | | |
| 11 - 605 - 6" Base Pipe Underdrains, 707.31 - FT | 3,210.00 | \$15.00 | \$48,150.00 |
| 12 - 611 - 12" Conduit, Type B, 707.33, As Per Plan - FT | 50.00 | \$75.00 | \$3,750.00 |
| 13 - 611 - Catch Basin No. 3, As Per Plan - EA | 4.00 | \$3,500.00 | \$14,000.00 |
| 14 - 611 - Catch Basin Adjusted to Grade - EA | 3.00 | \$500.00 | \$1,500.00 |
| 15 - 614 - Maintaining Traffic - LUMP | 1.00 | \$30,000.00 | \$30,000.00 |
| 16 - 623 - Construction Layout Stakes and Surveying - LUMP | 1.00 | \$3,500.00 | \$3,500.00 |
| 17 - 623 - Monument Assembly, Adjusted to Grade - EA | 3.00 | \$700.00 | \$2,100.00 |
| 18 - 624 - Mobilization - LUMP | 1.00 | \$14,212.00 | \$14,212.00 |
| 19 - 659 - Seeding and Mulching including Topsoil, Class 1 - SY | 1,080.00 | \$8.00 | \$8,640.00 |
| 20 - 832 - Erosion Control - EA | 2,000.00 | \$1.00 | \$2,000.00 |
| 21 - Special - Geotextile Fabric, As Per Plan - SY | 4,475.00 | \$1.20 | \$5,370.00 |
| 22 - Special - Miscellaneous Metal - LBS | 500.00 | \$2.00 | \$1,000.00 |
| 23 - Special - Mailbox, Remove and Re-Erect - EA | 21.00 | \$150.00 | \$3,150.00 |
| 24 - Special - Pre-Construction Video - LUMP | 1.00 | \$1,000.00 | \$1,000.00 |
| 24 Items | Totals: | | \$797,447.00 |

^{*} Non-Responsive - Original Bid Bond & Non-Collusion not included